T

Q

spare part list

Detachable Ergonomic office chair installation instroduction

S g (M&*15)
Aluminum heel Spcs Aluminum alloy | cap of aluminum | screws 2pes | headrest 1ped Airrod 1pcs | wrench
heel connector heel
—| OO0
| 00 g @ g é
Armrest  2pcs Gasket  4pcs Backframe screws M6X45 Spcs| Chassis screws (M6*35) 4pcs
||
M40 B
B ((M6*20)24
-
Headrest Headrest screws) =
Backframe 1pcs  [Armrest screws 2pcs Cushion 1pes Mechanism components 1pcyg
= P screws 20t |cover cap 2pcs = ' e P
Installation manual
| Connect the aluminum
% ¥ five-star foot
11
g 11~
11

10pcs ME*15 Screws

-i ~, Install the five-star-foot.

Remark: The four screws of the chassis must
be zpacers.
3 Connect 4 M6*35 screws + Gaskets to
2 Install the-air rod and casters ™ the cushion and the mechanism
" ta the five-star-foot. components.
Remark:Backframe connect Spcs —
SCrews ( i =
( ) =
1 '
| | r‘. Fa
&.E 1 A /| do
| a—
e | ~ “_' o=t () Install 2 small screws and cover
| \d - with screw caps.
Products size: 64631 | e
. Screws Spos = o '-|..|
Remark:Plastic spacers must be installed on
the screws before latch the armerests.
0 1 2 3 q 5 6 7 8 9 10 cm Connect 5 M6*45 screws to the B it et scrmrests w6 and &\ After the headrest is assembled, the upper part of
i | i I LLLL | i | L I mmnmi | nimmnm [ T | backframe and the seat plate. eover with the eap; the chair is aligned with the air rod and installed.




